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Unit 4 — State Practice Test Problems Name:

1.

ijchgxpression i eguivalent to 32 -8

v qNZ =2
H, © 2
D. 2410
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Which expression is eguivalent to

A,

*
——

3
4

3.  Which expression has a value that is a rational number?
A, fio+16

B. 2{5+47)

D 3+0

s T=-& =1
4.  “Which staternent is troe about the value of {in + 4)‘*4?

A, Tt is rational, because the product of two rational sumbers is rational.

B. 1 is rational, because the product of a rational mamber and an irrational number is
rational.

€. Ttis irational, because the product of two Irrational mumbers is irrational.

D. It is irrational, because the product of an frravional number and a rational nuber is
irrational,




5. Let @ be & nonzero rationad number and 5 be an brrational namber. Which of these

MUST be s rational nﬁmber" o= o3
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6. What ks the product of 7x — 4 and Bx + 57 (‘7 W ~4 ‘) (‘@ XA )
A 15x+1 ‘ S
B 30x+2 Sex ¥ 35X
C. 36"+ 3x~20 —- 32K =20
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7. A model of a house is shown.
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1 |72 + 3

e < 13 50X+ 1§

What is the perimeter, in units, of the medel?

X Tos

A, 32y +12

. S0x+ 11
D 6dx+24

Which has the same value as the expression (8 + 2x — §) ~ (S — 35+ 27
S
A 3 -x-4 $%, 42X~ b
(B3 + 528 ~SKEy K- 2
B, 3xr +5x~§ b .
C 13 -8 GRS
D. 132" ~5r=4

8.




9. Kelly makes two different-sized ceramic tiles in the shape of right isosceles triangles.
This diagram shows the leg leapgths of the small file.
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Kelly makes a larger tile by increasing the length of each leg of the small tile by x inches.
Which expression represents the tenpth, in Inches, of the hypotenuse of the hirge tile?

A, 18+x
B. (x+3)°
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10. Which of the following is an irational 11.  Which of the following is niot a rational
mumber? _number?

(&> The sum of 3 and 0.111.. (&) The product of 2 and 0.3

L R )

(B) The product of 2./3 and width _\[%%;E FA @ The sumof 2+ J3 and 543
S =2

5 [£> The sum of % and %

he product of 2 and +2

K

&

i The product of n,f'?é and @ ) od )
A

{(D>)The sum of +/3 and 0.3
= 0.0WSHEdIG L

12. I %}\; —5x + 718 suiﬁracted— frﬂm‘ 13.  What is the resulting polynomial when
_4:::“_+ 2x — fﬁ , what is the coefficient of x 3x+ 7 is multiplied by 2x — 69
in the resuft? -

(A 5x+1
| ® 6x - 42
© (@40 4542
— Do 6+ 0x—42
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